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4. 

Question ID : 26433080540
Status : Answered

Chosen Option : 4
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Q.2

Ans

1. 

2. 

3. 

4. 

Question ID : 26433055737
Status : Answered

Chosen Option : 1

Q.3 यिद – का अथ� + है, × का अथ� ÷ है , ÷ का अथ� − है, + का अथ� × है, तो ��-िच� (?) के �थान पर �ा
आएगा?
76 × 4 + 13 ÷ 8 – 3 = ?

Ans 1. 236

2. 212

3. 108

4. 242

Question ID : 26433068115
Status : Answered

Chosen Option : 4

Q.4 एक िनि�त कूट भाषा म� 'CAKE' को '6' िलखा जाता है और 'JUICE' को '7' िलखा जाता है। उस भाषा
म� 'JUG' को कैसे िलखा जाएगा?

Ans 1. 5 

2. 6 

3. 4 

4. 3 

Question ID : 26433056575
Status : Answered

Chosen Option : 1
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Q.5 उस िवक� का चयन कीिजए जो उन अ�रो ंको िन�िपत करता है िज�� नीचे �र� �थानो ंम� बाएँ से
दाएँ रखने पर अ�र �ंृखला पूरी हो जाएगी।

AA_D_F_AC_E_A_ _D_F_ACD_F
Ans 1. ACDAFACEAE

2. CAFDFAACEE

3. CEADFACEAE

4. CEAFDACEAC

Question ID : 26433059866
Status : Answered

Chosen Option : 3

Q.6  अनीता अपने घर से �ारंभ करके दि�ण की ओर 6 km साइिकल चलाती है और िफर बाएँ मुड़कर 8
km साइिकल चलाती है। वह िफर से बाएँ मुड़ती है और अपने �ूल प�ँचने के िलए X km साइिकल
चलाती है। िबंदु A उसके �ूल के पि�म म� है और साथ ही उसके घर से उ�र म� 3 km दूरी पर है। X का
मान �ा है?

Ans 1. 7 km

2. 3 km

3. 9 km

4. 11 km

Question ID : 26433058021
Status : Answered

Chosen Option : 3

Q.7 िन�िल�खत म� से कौन-सी सं�ा �� न-िच� (?) का �थान लेगी और दी गई सं�ा �ंृखला को पूरा
करेगी?
2, 12, 144, 2592, ?

Ans 1. 62108

2. 63408

3. 62208

4. 62204

Question ID : 26433067464
Status : Answered

Chosen Option : 1

Q.8 यिद + का आशय – से है, − का आशय × से है, × का आशय ÷ से है और ÷ का आशय + से है, तो
िन�िल�खत �ंजक का मान �ा होगा?
24 − 20 × 12 + 18 ÷ 5

Ans 1. 17

2. 480

3. 53

4. 27

Question ID : 26433076709
Status : Answered

Chosen Option : 4
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Q.9

Ans

1. 

2. 

3. 

4. 

Question ID : 26433057869
Status : Answered

Chosen Option : 2

Q.10

Ans 1. 23

2. 21

3. 11

4. 45

Question ID : 26433085366
Status : Answered

Chosen Option : 3
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Q.11 उस वेन आरेख का चयन कर�  जो िन�िल�खत वग� के बीच के संबंध को सव�� तम �प से दशा�ता है।
पु�ष, िपता, डॉ�र

Ans

1. 

2. 

3. 

4. 

Question ID : 26433065942
Status : Answered

Chosen Option : 2

Q.12 िन� वग� के बीच के संबंध को सव��म �प से दशा�ने वाले वेन आरेख का चयन कर�।
च�ा, ल�स, दप�ण

Ans

1. 

2. 

3. 

4. 

Question ID : 26433067229
Status : Answered

Chosen Option : 1
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Q.13

Ans

1. 

2. 

3. 

4. 

Question ID : 26433067460
Status : Answered

Chosen Option : 2

Q.14 यिद A का अथ� '+' है, B का अथ� '×' है, C का अथ� '   −' है और D का अथ� '÷' है, तो िन�िल�खत �ंजक
का मान �ा होगा?
200 C 12 B 15 A 26 D 13

Ans 1. 24

2. 22

3. 23

4. 26

Question ID : 26433068697
Status : Answered

Chosen Option : 2
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Q.15 एक िनि�त कूट भाषा म� ‘FRIDAY’ को ‘KTHACF’ के �प म� और ‘MOSTLY’ को ‘UQOANV’ के
�प म� िलखा जाता है। उसी कूट भाषा म� ‘GINGER’ को कैसे िलखा जाएगा?

Ans 1. PKITGI

2. PKITFI

3. PKIUHJ

4. TGIOKI

Question ID : 26433056198
Status : Answered

Chosen Option : 1

Q.16 अ�रो ंके उस संयोजन का चयन कर�  जो दी गई �ंृखला के �र� �थानो ंम� �िमक �प से रखे जाने पर
�ंृखला को पूण� करेगा।
VW _ V _ _ VW _ _ WV

Ans 1. WWWVW

2. VWVWV

3. WVWWV

4. VWVVV

Question ID : 26433057731

Status : Not Attempted and
Marked For Review

Chosen Option : --

Q.17 यिद I का अथ� ‘÷’ है, J का अथ� ‘×‘ है, K का अथ� ‘-’ है, और L का अथ� ‘+’ है तो िन�िल�खत समीकरण
म� '?' के �थान पर �ा आएगा? 
17 J 6 K 21 L 93 I 3 L 35 K 12 = ?

Ans 1.  128

2.  135

3.  130

4.  140

Question ID : 26433057633
Status : Answered

Chosen Option : 2
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Q.18

Ans

1. 

2. 

3. 

4. 

Question ID : 26433067462
Status : Answered

Chosen Option : 4

Q.19 उस िवक� का चयन कर� , जो उन अ�रो ंका �ितिनिध� करता है, जो �र� �थानो ंम� �िमक �प से
बाएँ से दाएँ रखे जाने पर दी गई अ�र �ंखला को पूरा कर� गे।
w _ l l _ g _ w e _ l n _ k _ e _ l _ g k

Ans 1. e n l k g w k n

2. e n k l w g I n

3. e n k l g w l n

4. e n k l g w k n

Question ID : 26433056791
Status : Answered

Chosen Option : 3
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Q.20 िडओगो का घर पि�म की ओर (पि�ममुखी) है। वह अपने घर से बाहर िनकलता है और 22 m सीधा
चलता है। िफर वह अपने बाय� मुड़ता है और 20 m चलता है। वह िफर से बाय� मुड़ता है और 25 m
चलता है। अंत म�, वह एक बार िफर बाय� मुड़ता है और अपने �ूल तक प�ंचने के िलए 24 m चलता है।
उसके घर से �ूल िकतनी दूर है और उसके घर के स�भ� म� िकस िदशा म� है?

Ans 1. दि�ण-पूव� की ओर 25 m

2. उ�र-पूव� की ओर 7 m

3. उ�र-पि�म की ओर 5 m

4. उ�र-पूव� की ओर 5 m

Question ID : 26433057311
Status : Answered

Chosen Option : 4

Q.21 उस समु�य का चयन कीिजए, िजसम� सं�ाएँ उसी �कार संबंिधत ह�, िजस �कार िदए गए समु�य की
सं�ाएँ आपस म� संबंिधत ह�।
(नोट: सं�ाओ ंको उसके घटक अंको ंम� िवभािजत िकए िबना, पूण� सं�ाओ ंपर गिणतीय संि�याएँ की
जा सकती है। उदाहरण के िलए 13 - सं�ा 13 पर गिणतीय संि�याएँ जैसे िक जोड़ना/घटाना/गुणा
करना आिद को 13 पर ही िकया जा सकता है। 13 को 1 और 3 म� िवभािजत करने और िफर 1 और 3
पर गिणतीय संि�याएँ करने की अनुमित नही ंहै।)
(17, 29, 46)
(24, 36, 60)

Ans 1. (29, 41, 64)

2. (36, 46, 81)

3. (48, 52, 98)

4. (21, 33, 54)

Question ID : 26433057070
Status : Answered

Chosen Option : 4

Q.22 यिद A का अथ� ‘+’ है, B का अथ� ‘×’ है, C का अथ� ‘-’ है, और D का अथ� ‘÷’ है तो िन�िल�खत
समीकरण म� '?' के �थान पर �ा आएगा?
34 A 15 B 3 C 11 B 2 A (51 D 17) = ?

Ans 1.  65

2. 53

3.  60

4.  58

Question ID : 26433057618
Status : Answered

Chosen Option : 3
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Q.23

Ans
1. 

2. 

3. 

4. 

Question ID : 26433057568
Status : Answered

Chosen Option : 1

Q.24 उस िवक� का चयन कीिजए, िजसका पाँचव� अ�र-समूह से ठीक वही संबंध है, जो संबंध दूसरे अ�र-
समूह का पहले अ�र-समूह से है और वही संबंध चौथे अ�र-समूह का तीसरे अ�र-समूह से है।
DUNE: BGSXLQCH :: NEED: LQCHCHBG :: KING: ?

Ans 1. NGLLQEJI 

2.  INGLLQEJ

3.  GLLQEJIN

4. LLQEJING 

Question ID : 26433056283
Status : Answered

Chosen Option : 2

Q.25 यिद A का अथ� '+' है, B का अथ� '×' है, C का अथ� '−' है और D का अथ� '÷' है, तो िन�िल�खत �ंजक
का मान �ा होगा?
35 A 68 D 34 C 16 B 1

Ans 1. 41

2. 51

3. 21

4. 31

Question ID : 26433068704
Status : Answered

Chosen Option : 3

Q.26 िन�िल�खत म� से कौन-सी सं�ा दी गई �ंृखला म� �� िच� (?) के �थान पर आएगी?
98, 99, 107, ?, 198

Ans 1. 146

2. 148

3. 134

4. 154

Question ID : 26433067641
Status : Answered

Chosen Option : 3
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Q.27

Ans

1. 

2. 

3. 

4. 

Question ID : 26433057371
Status : Answered

Chosen Option : 3

Q.28 उस िवक� का चयन कर�  िजसम� नीचे िदए गए श�ो ंको अं�ेजी श�कोश के वणा�नु�म के अनुसार
रखा गया है।
1. Interest
2. Interdisciplinary
3. Interdict
4. Interdependent
5. Intersect

Ans 1. 2, 1, 4, 3, 5

2. 4, 3, 2, 1, 5

3. 3, 2, 4, 1,5

4. 1, 2, 3, 4, 5

Question ID : 26433057664
Status : Answered

Chosen Option : 2
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Q.29 Arrange the following planets in a logical and meaningful order.
1.Earth
2.Venus
3.Mars
4.Saturn
5.Jupiter

Ans 1. 2,1,3,5,4

2. 2,3,1,4,5,

3. 3,1,2,4,5

4. 1,2,3,5,4

Question ID : 26433067969
Status : Answered

Chosen Option : 1

Q.30 'C @ D' का अथ� है 'C, D के िपता है'।
'C * D' का अथ� है 'C, D का भाई है'।
'C × D' का अथ� है 'D, C का पित है'।
'C # D' का अथ� है 'C, D की बहन है'।
'C $ D' का अथ� है 'C, D का दामाद है'।
'C = D' का अथ� है 'C, D की माँ है'।
िन�िल�खत �ंजक म� A, C से िकस �कार संबंिधत है?
A @ L # F * E × G $ C

Ans 1. भाई

2. िपता

3. बेटा

4. पित

Question ID : 26433057294
Status : Answered

Chosen Option : 4

Q.31 एक िनि�त कूट भाषा म�, 'SO' को '34' िलखा जाता है और 'BED' को '11' िलखा जाता है। उसी भाषा म�
'MOAN' कैसे िलखा जाएगा?

Ans 1. 99

2. 86

3. 43

4. 23

Question ID : 26433056088
Status : Answered

Chosen Option : 3

Q.32 अं�ेजी वण�माला �म म� ��थित के आधार पर, िन�िल�खत म� से तीन अ�र-समूह िकसी न िकसी �कार
से एक समान ह� और एक िभ� है। िभ� अ�र-समूह का चयन कर�।

Ans 1. BDIL

2. FHMP

3. LNSV

4. JLPT

Question ID : 26433065653
Status : Answered

Chosen Option : 4
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Q.33 A # B का अथ� है 'A, B का भाई है'।
A @ B का अथ� है 'A, B का पु� है'।
A & B का अथ� है 'A, B का िपता है'।
A % B का अथ� है 'A, B की माँ है'।
यिद W # Q @ T & Y @ M % K % L, तो K, T से िकस �कार संबंिधत है?

Ans 1. ब�

2. माँ

3. पु�ी

4. बहन

Question ID : 26433079498
Status : Answered

Chosen Option : 3

Q.34

Ans

1. 

2. 

3. 

4. 

Question ID : 26433056679
Status : Answered

Chosen Option : 2
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Q.35

Ans 1. D

2. C

3. A

4. B

Question ID : 26433057367
Status : Answered

Chosen Option : 4

Q.36 िदए गए िवक�ो ंम� से वह सं�ा चुिनए, जो िन�िल�खत �ंखला म� ��-िच� (?) को �ित�थािपत कर
सके।
95, 73, 53, ?, 19, 5

Ans 1. 31

2. 42

3. 39

4. 35

Question ID : 26433057028
Status : Answered

Chosen Option : 4
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Q.37

Ans

1. 

2. 

3. 

4. 

Question ID : 26433056827
Status : Answered

Chosen Option : 3

Q.38

Ans 1. 

2. 

3. 

4. 

Question ID : 26433068726
Status : Answered

Chosen Option : 3
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Q.39 उस समु�य का चयन कीिजए, िजसम� सं�ाएँ उसी �कार संबंिधत ह�, िजस �कार िदए गए समु�य की
सं�ाएँ आपस म� संबंिधत ह�।
(नोट: सं�ाओ ंको उसके घटक अंको ंम� िवभािजत िकए िबना, पूण� सं�ाओ ंपर गिणतीय संि�याएँ की
जा सकती है। उदाहरण के िलए 13 - सं�ा 13 पर गिणतीय संि�याएँ जैसे िक जोड़ना/घटाना/गुणा
करना आिद को 13 पर ही िकया जा सकता है। 13 को 1 और 3 म� िवभािजत करने और िफर 1 और 3
पर गिणतीय संि�याएँ करने की अनुमित नही ंहै।)
(23, 25, 16)
(21, 17, 256)

Ans 1.  (11, 9, 12)

2.  (14, 19, 125)

3.  (18, 15, 81)

4.  (27, 23, 64)

Question ID : 26433057102
Status : Answered

Chosen Option : 3

Q.40 दी गई �ंृखला को पूरा करने के िलए कौन-सा अ�र-समूह �� िच� (?) को �ित�थािपत करेगा?
GSAV, JPER, ?, PJMJ, SGQF, ?

Ans 1. MMJO

2. MMIN

3. MNIP 

4. MNIO

Question ID : 26433055251
Status : Answered

Chosen Option : 2

Q.41 एक िनि�त कूट भाषा म�, GOA को 7151 के �प म� िलखा गया है और DOG को 4157 के �प म� िलखा
गया है। उसी भाषा म�, MAN को िकस �कार िलखा जाएगा?

Ans 1. 12113

2. 31114

3. 11113

4. 13114

Question ID : 26433056036
Status : Answered

Chosen Option : 4

Q.42 आठ ��� दो समानांतर पं��यो ंम� ��ेक म� चार ��� इस �कार बैठे ह� िक आस� ���यो ंके
बीच समान दूरी है। 5, 6, 7 और 8 एक ही पं�� म� दि�ण की ओर मुख करके बैठे ह�। 1, 2, 3 और 4
एक ही पं�� म� उ�र की ओर मुख करके बैठे ह�। 4 और 2 अपनी पं�� के अंितम छोर पर नही ंबैठे ह�।
7 अपनी पं�� के अंितम दाएँ छोर पर बैठा है और 1 के ठीक िवपरीत है। 3, 8 के ठीक िवपरीत बैठा है।
दि�ण की ओर मुख करके बैठे ���यो ंकी पं�� के अंितम बाएँ छोर पर कौन बैठा है?

Ans 1. 8

2. 6

3. 5

4. 3

Question ID : 26433068749

Status : Not Attempted and
Marked For Review

Chosen Option : --
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Q.43 छ: ��� दो समानांतर पं��यो ंम� ��ेक म� 3 ��� इस �कार बैठे ह� िक आस� ���यो ंके बीच
समान दूरी है। S, T और U एक ही पं�� म� दि�ण की ओर उ�ुख होकर बैठे ह�। X, Y और Z एक ही
पं�� म� उ�र की ओर उ�ुख होकर बैठे ह�। U उनकी पं�� के अंितम दाएँ छोर पर बैठा है और X के
ठीक िवपरीत है। T, U का िनकटतम पड़ोसी है और Z के ठीक िवपरीत बैठा है। उ�र की ओर मुख
करके पं�� के अंितम दाएँ छोर पर कौन बैठा है?

Ans 1. Y

2. Z

3. U

4. X

Question ID : 26433068740
Status : Answered

Chosen Option : 1

Q.44 तीन कथन िदए गए ह�, िजनके बाद I, II और III से �मांिकत तीन िन�ष� िदए गए ह�। कथनो ंको स�
मानते �ए, भले ही वे सामा� �प से �ात त�ो ंसे िभ� �तीत होते हो,ं िनण�य लीिजए िक कौन-सा/से
िन�ष� कथनो ंका तािक� क �प से अनुसरण करता/करते है/ह�।
कथन :
सभी बैकपैक, सूटकेस ह�।
सभी सूटकेस, ट� ॉली ह�.
कुछ बैकपैक, लगेज ह�।
िन�ष�:
(I) कुछ सूटकेस, लगेज ह�।
(II) कुछ बैकपैक, ट� ॉली ह�।
(III) सभी ट� ॉली, लगेज ह�।

Ans 1. िन�ष� I और III दोनो ंअनुसरण करते ह�।

2. केवल िन�ष� I अनुसरण करता है।

3. िन�ष� I और II दोनो ंअनुसरण करते ह�।

4. िन�ष� II और III दोनो ंअनुसरण करते ह�।

Question ID : 26433068962
Status : Answered

Chosen Option : 2

Q.45 िन�िल�खत चार अ�र-समूहो ंम� से तीन एक िनि�त तरीके से समान ह� और एक अलग है। अलग अ�र-
समूह का चयन कर�।

Ans 1. IFK

2. GCI

3. XTZ

4. PLR

Question ID : 26433057225
Status : Answered

Chosen Option : 1

Q.46 िन�िल�खत म� से कौन-सी सं�ा �� न-िच� (?) का �थान लेगी और दी गई सं�ा �ंृखला को पूरा
करेगी?
600, 590, 575, 550, 510, ?

Ans 1. 460

2. 420

3. 450

4. 440

Question ID : 26433067466
Status : Answered

Chosen Option : 3
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Q.47

Ans

1. 

2. 

3. 

4. 

Question ID : 26433070429
Status : Answered

Chosen Option : 2

Q.48 उस समु�य का चयन कीिजए िजसम� सं�ाएँ आपस म� उसी �कार संबंिधत ह� िजस �कार िन�िल�खत
समु�यो ंकी सं�ाएँ आपस म� संबंिधत ह�। (नोट: सं�ाओ ंको उसके घटक अंको ंम� िवभािजत िकए
िबना, पूण� सं�ाओ ंपर गिणतीय संि�याएं की जानी चािहए। उदाहरण के िलए 13 - गिणतीय संि�याएं
जैसे िक जोड़ना/घटाना/गुणा करना इ� यािद 13 म� िकया जा सकता है। 13 को 1 और 3 म� िवभािजत
करना और िफर 1 और 3 पर गिणतीय संि�याएँ करने की अनुमित नही ंहै।) 
(6, 12, 228) 
(8, 3, 515)

Ans 1. (3, 28, 56)

2. (4, 18, 82)

3. (9, 23, 119)

4. (13, 11, 172)

Question ID : 26433057447

Status : Not Attempted and
Marked For Review

Chosen Option : --
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Q.49 Select the option that is related to the third word in the same way as the second word
is related to the first word. (The words must be considered as meaningful English
words and must not be related to each other based on the number of letters/number of
consonants/vowels in the word.)
Force : Newton :: Current : ?

Ans 1. Volt

2. Charge

3. Ampere

4. Coulomb

Question ID : 26433067381
Status : Answered

Chosen Option : 3

Q.50 इस �� म� तीन कथन िदए गए ह�, िजसके बाद दो िन�ष� I और II िदए गए ह�। कथनो ंको स� मानते
�ए, भले ही वे सव��ात त�ो ंसे िभ� �तीत होते हो,ं िनण�य कीिजए िक कौन-सा/से िन�ष� कथनो ंका
तािक� क �प से अनुसरण करता है/अनुसरण करते ह�।
कथन:
सभी गाउन शट� ह�।
कुछ शट� कोट ह�।
सभी कोट कपड़े ह�।
िन�ष�:
I. कुछ गाउन कपड़े ह�।
II. कुछ कपड़े शट� ह�।

Ans 1. केवल िन�ष� I अनुसरण करता है।

2. केवल िन�ष� II अनुसरण करता है।

3. न तो िन�ष� I और न ही II अनुसरण करता है।

4. िन�ष� I और II दोनो ंअनुसरण करते ह�।

Question ID : 26433070379
Status : Answered

Chosen Option : 2

Q.1 िन�िल�खत म� से िकसके पास भारत के मु� �ायाधीश से परामश� करके �ायाधीशो ंको एक उ�
�ायालय से दूसरे उ� �ायालय म� �थानांत�रत करने का अिधकार है?

Ans 1. उपरा�� पित

2. रा�� पित

3. महा�ायवादी

4. �धानमं�ी

Question ID : 26433055550
Status : Answered

Chosen Option : 2

Q.2 �व� पया�� __________नही ंहोने के कारण होता है, िजसके प�रणाम��प सामा� कमजोरी,
र�ा�ता, मसूड़ो ंकी बीमारी और �चा र��ाव होता है।

Ans 1. ए�ॉिब�क अ�

2. थायिमन

3. सायनोकोबालिमन

4. िनयािसन

Question ID : 26433055109
Status : Answered

Chosen Option : 2

Section : General Knowledge and General Awareness
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Q.3 Who among the following discovered the concept of expanding universe?
Ans 1. Charles Messier

2. Edwin Hubble

3. Carl Edward Sagan

4. Tycho Brahe

Question ID : 26433055160
Status : Answered

Chosen Option : 2

Q.4 नवंबर 1919 म� अ�खल भारतीय �खलाफत स�ेलन कहाँ �आ था?
Ans 1. लखनऊ

2. लाहौर

3. ब�ई

4. िद�ी

Question ID : 26433055640
Status : Answered

Chosen Option : 4

Q.5 Which of the following pair of plant disease – microorganism is correct?
I. Citrus canker – Virus
II. Rust of wheat – Fungi

Ans 1. Neither I nor II

2. Both I and II

3. Only II

4. Only I

Question ID : 26433055110
Status : Answered

Chosen Option : 3

Q.6 िन�िल�खत म� से िकस �कार के अवसंरचना िवकास के िलए भारत सरकार �ारा �धान मं�ी 'गित
श��' योजना शु� की गई है?

Ans 1. अ�ताल

2. कृिष उ�ादन

3. �ूल और िश�ा

4. प�रवहन

Question ID : 26433092846
Status : Answered

Chosen Option : 4

Q.7 िन�िल�खत म� से कौन सा अनु�ेद िश�ा के अिधकार के �ावधान को �थािपत करता है?
Ans 1. अनु�ेद 20 (1)

2. अनु�ेद 23

3. अनु�ेद 22 (3)

4. अनु�ेद 21A

Question ID : 26433069874
Status : Answered

Chosen Option : 4
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Q.8 लॉज़ेन म� आयोिजत आई.ओ.सी.(IOC)काय�कारी बोड� की बैठक के दौरान टो�ो 2020 ओलंिपक म� 4 ×
400 m िमि�त �रले �धा� को शािमल करने का िनण�य िन�िल�खत म� से िकस वष� िलया गया था?

Ans 1. 2019

2. 2020

3. 2016

4. 2018

Question ID : 26433059388
Status : Answered

Chosen Option : 1

Q.9 Which of the following festivals is observed by the tribal people of Jharkhand?
Ans 1. Nongkrem

2. Bhagta Parab

3. Losar

4. Suata

Question ID : 26433064668
Status : Answered

Chosen Option : 3

Q.10 �ांितकारी नायक अशफाकउ�ा खान को _________ के िलए मौत की सजा सुनाई गई थी।
Ans 1. चौरी-चौरा थाने म� आग लगाने म�

2. काकोरी ट� ेन डकैती

3. सॉ�स� की ह�ा

4. अलीपुर षडयं� मामले

Question ID : 26433080975
Status : Answered

Chosen Option : 3

Q.11 ब�को ंके साथ �यं-सहायता समूहो ं(SHG) को जोड़कर माइ�ो-�ेिडट को संिचत करने के िलए, 1992
म� __________ �ारा एक प�रयोजना शु� की गई थी।

Ans 1. NABARD 

2. RRB 

3. IRMA

4. SIDBI

Question ID : 26433064105
Status : Answered

Chosen Option : 2

Q.12 परमाणु �मांक वाला कौन सा रासायिनक त� 31 है?
Ans 1. गैिलयम

2. इंिडयम

3. थैिलयम

4. एलुिमिनयम

Question ID : 26433055762

Status : Not Attempted and
Marked For Review

Chosen Option : --
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Q.13 िन�िल�खत म� से कौन-सा देश पु�षो ंके एफ़आईएच (FIH) हॉकी िव� कप – 2023 की मेजबानी
करेगा?

Ans 1. भारत

2. पािक�ान

3. ऑ�� ेिलया

4. जम�नी

Question ID : 26433054685
Status : Answered

Chosen Option : 1

Q.14 एलईआरएमएस (LERMS) नीित के अनुसार आरबीआई �ारा सुिनि�त की गई आिधका�रक िविनमय
दर पर िविनमय के िलए, िवदेशी मु�ा-िविनमय आय का िकतना �ितशत आव�क था?

Ans 1. 

2. 

3. 

4. 

Question ID : 26433059333

Status : Not Attempted and
Marked For Review

Chosen Option : --

Q.15 2021 की िव� कला�क िजमना��क च��िपयनिशप िन�िल�खत म� से िकस �थान पर आयोिजत की गई
थी?

Ans 1. �टगाट�, जम�नी

2. दोहा, कतर

3. िलवरपूल, �ेट ि�टेन

4. िकता�ूशु, जापान

Question ID : 26433059421
Status : Answered

Chosen Option : 4

Q.16 भारतीय क�ुिन� पाट� की �थापना अ�ूबर 1920 म�________ म� �ई थी।
Ans 1. कलक�ा

2. ि�टेन

3. लाहौर

4. ताशकंद

Question ID : 26433055642
Status : Answered

Chosen Option : 1

Q.17 'डॉलर ब�' िन�िल�खत भारतीय लेखको ंम� से िकसके �ारा िलखी गई है?
Ans 1. अ�ंधित रॉय

2. सुधा मूित�

3. िकरण देसाई

4. खुशवंत िसंह

Question ID : 26433054187
Status : Answered

Chosen Option : 2
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Q.18 15वी ंशता�ी ई�ी म� स�ीया नृ� शैली िकसके �ारा पेश की गई थी?
Ans 1. महापु�ष शंकरदेव

2. गोिवंदाचाय�

3. चैत� महा�भु

4. व�भाचाय�

Question ID : 26433054214
Status : Answered

Chosen Option : 1

Q.19 िन�िल�खत म� से कौन सा/से कथन भारत म� संचार िवकास के बारे म� स� है/ह�?
A. भारत म� टीवी सेवाएं �तं�ता से पहले शु� �ई।ं
B. टीवी को आकाश वाणी (ऑल इंिडया रेिडयो) से अलग कर िदया गया था।
C. 1976 म� दूरदश�न को एक अलग पहचान िमली।

Ans 1. B और C दोनों

2. केवल C

3. A और B दोनों

4. A और C दोनों

Question ID : 26433086897
Status : Answered

Chosen Option : 4

Q.20 भारत के रा�� पित के बारे म� िन�िल�खत म� से कौन सही नही ंहै? 
Ans 1. रा�� पित का काय�काल पाँच वष� का होता है।  

2. वे संसद के एक अंग होते ह�।  

3. संसद �ारा पा�रत ��ेक िवधेयक कानून बनने से पहले रा�� पित के पास उनकी �ीकृित के िलए भेजा
जाता है।   

4. उनके पास वीटो श�� त (पॉवर) होती है िजसके �ारा वे  संसद �ारा पा�रत धन िवधेयक सिहत अ�
िवधेयको ंको अपने पास रोके रख सकते ह� या �ीकृित देने से मना कर सकते ह�।  

Question ID : 26433054089
Status : Answered

Chosen Option : 4

Q.21 िन�िल�खत म� से िकसने 1878 के वना��ूलर �ेस अिधिनयम को िनर� िकया था?
Ans 1. लॉड� नॉथ��ुक

2. लॉड� िलटन

3. लॉड� डफ़�रन

4. लॉड� �रपन

Question ID : 26433081947
Status : Answered

Chosen Option : 3

Q.22 भारतीय संिवधान के िकस भाग को 'भारत का मै�ा काटा�' कहा जाता है?
Ans 1. भाग III

2. भाग IV

3. भाग II

4. भाग VI

Question ID : 26433054123
Status : Answered

Chosen Option : 1
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Q.23 िन�िल�खत म� से कौन-सा बांध उस रा� के साथ सही ढ़ंग से सुमेिलत िकया गया है िजसम� यह ��थत
है?

Ans 1. हीराकंुड बांध – ओिडशा

2. िटहरी बांध – उ�र �देश 

3. भाखड़ा नांगल बांध – तिमलनाडु

4. नागाजु�न बांध – राज�थान

Question ID : 26433054062
Status : Answered

Chosen Option : 1

Q.24 िन�िल�खत म� से कौन सा मु� ताल वा� यं� है िजसका उपयोग मोिहनीअ�म नृ� के �दश�न म� िकया
जाता है?

Ans 1. एड�ा

2. धुमसा

3. नगाड़ा

4. िसतार

Question ID : 26433072621
Status : Answered

Chosen Option : 4

Q.25 िकस रा�/क� � शािसत �देश ने �धानमं�ी �ाम सड़क योजना के तहत 2020-21 म� 3,300 km �ामीण
सड़को ंका िनमा�ण िकया?

Ans 1. उ�राखंड

2. ज�ू और क�ीर

3. िद�ी

4. िहमाचल �देश

Question ID : 26433071587
Status : Answered

Chosen Option : 4

Q.26 िन�िल�खत म� से कौन मुह�द गोरी के सेनापित थे, िज�ोनें भारत म� गुलाम वंश की �थापना भी की
थी?

Ans 1. गयासु�ीन बलबन

2. आराम शाह ि�तीय

3. इ�ुतिमश

4. कुतुबु�ीन ऐबक

Question ID : 26433071392
Status : Answered

Chosen Option : 1

Q.27 अित उ�-िवभेदन रेिडयोमीटर (VHRR) ले जाने वाले उप�ह की कौन-सी �ंखला तापमान, मेघावरण,
हवा और संबंिधत मौसम की घटनाओ ंका मू�वान �े�ण �दान करती है?

Ans 1. इ�ैट (INSAT) �ंखला

2. �ोस (SROSS) �ंखला

3. जीसैट (GSAT) �ंखला

4. आईआरएस (IRS) �ंखला

Question ID : 26433055150
Status : Answered

Chosen Option : 3
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Q.28 िन�िल�खत म� से िकस शा�ीय नृ� को 'कथावाचको ंका नृ�' कहा जाता है?
Ans 1. कथक

2. कुिचपुड़ी

3. कथकली

4. ओिडसी

Question ID : 26433082157
Status : Answered

Chosen Option : 1

Q.29 रा� िवधानसभा के अ�� की श�� के संदभ� म� िन�िल�खत म� से कौन-सा कथन सही नही ंहै?
Ans 1. वह सदन की �व�था और मया�दा को बनाए रखता है।

2. वह एक साधारण िवधेयक को लेकर दोनो ंसदनो ंके बीच गितरोध को हल करने के िलए िवधानसभा
और प�रषद के संयु� स� का आ�ान कर सकता है।

3. वह कोरम के अभाव म� िवधानसभा को र� कर करता है या बैठक को �थिगत कर सकता है।

4. वह तय करता है िक कोई िवधेयक धन िवधेयक है या नही।ं

Question ID : 26433069900
Status : Answered

Chosen Option : 4

Q.30 “िलवरवट्�स सामा�तः  नम, छायादार �थलो ंजैसे िक निदयो ंके िकनारे, दलदली जमीन, नम िम�ी, पेड़ो ं
की छाल और घने जंगलो ंम� उगते ह�। इनका का पादप शरीर थैलोइड होता है, जैसे िक, मच��िटया। थैलस
पृ�ीय होता है और स�ट� ेट से िनकटता से जुड़ा �आ होता है। प�ेदार भागो ंम� तने जैसी संरचनाओ ंपर
दो पं��यो ंम� प�ी जैसे छोटे उपांग होते ह�।”
उपरो� कथन िन�िल�खत म� से िकस �ायोफाइटा वग� को �� करता है?

Ans 1. सैलािजनेला

2. �ै�म

3. सै�ीिनया

4. िलवरवट�

Question ID : 26433055092

Status : Not Attempted and
Marked For Review

Chosen Option : --

Q.31 Which of the following is NOT a factor which should be kept in mind when planning
meals for a family?

Ans 1. Nutritional need

2. Environment

3. Economic factor

4. Season

Question ID : 26433055781
Status : Answered

Chosen Option : 2
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Q.32 मिणपुरी नृ� के लोकि�य �प रास, संकीत�न और थांग-ता ह�। तदनुसार मिणपुरी नृ� म� िकतने �मुख
रास नृ� ह�?

Ans 1. कथा�क नृ�

2. गैर कथा�क नृ� और सार नृ�

3. �ा�ा�क नृ�

4. सार कथा�क नृ�

Question ID : 26433090717

Status : Not Attempted and
Marked For Review

Chosen Option : --

Q.33 भारत म� व� जीवन के पतन के संबंध म� िन�िल�खत म� से कौन सा कथन सही नही ंहै?
Ans 1. औ�ोिगक और तकनीकी �गित

2. जंगल म� आग लगना, व� जीवन के पतन कारण नही ंहै

3. कृिष और मानव ब�ी

4. घरेलू मवेिशयो ंके िलए चारागाह

Question ID : 26433079540
Status : Answered

Chosen Option : 2

Q.34 ‘द टे� ऑफ़ माय लाइफ’ िन� म� से िकस ि�केटर की आ�कथा है?
Ans 1. एमएस धोनी

2. युवराज िसंह

3. सिचन त�दुलकर

4. मोह�द कैफ

Question ID : 26433054236
Status : Answered

Chosen Option : 4

Q.35 माना जाता है िक भारत म� औपचा�रक ि�िटश शासन 1757 म� ______ के बाद शु� �आ था।
Ans 1. ब�र के यु�

2. �ासी के यु�

3. कु�ालोर के यु�

4. वांडीवाश के यु�

Question ID : 26433099225
Status : Answered

Chosen Option : 1

Q.36 िन�िल�खत म� से कौन-सी एक समशीतो� समु�ी जलवायु है, िजसम� सभी मौसमो ंम� पया�� वषा� होती
है?

Ans 1. Cfb

2. BSh

3. BSk

4. Am

Question ID : 26433055821

Status : Not Attempted and
Marked For Review

Chosen Option : --
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Q.37 Which of the following pair type of nutrient – nutrient is correct?
I. Macronutrient – Iron
II. Micronutrient – Calcium

Ans 1. Only I

2. Only II

3. Neither I nor II

4. Both I and II

Question ID : 26433055105
Status : Answered

Chosen Option : 1

Q.38 Which of the following is NOT a neutral oxide?
Ans 1. NO 

2. Na2O

3. CO

4. N2O

Question ID : 26433054912
Status : Answered

Chosen Option : 3

Q.39 आ�िनभ�रता का सूचक �ा है?
Ans 1. उन व�ुओ ंके आयात से बचना, िजनका उ�ादन देश म� िकया जा सकता है।

2. उन व�ुओ ंके िनया�त से बचना, िजनका उ�ादन देश म� िकया जा सकता है।

3. उन व�ुओ ंके िनया�त म� वृ��, िजनका उ�ादन देश म� नही ंिकया जा सकता है।

4. उन व�ुओ ंके आयात म� वृ��, िजनका उ�ादन देश म� िकया जा सकता है।

Question ID : 26433054590
Status : Answered

Chosen Option : 1

Q.40 संिवधान का िन�िल�खत म� से कौन सा अनु�ेद िकसी � य�� त को अपनी पसंद के वकील से परामश�
करने का अिधकार देता है?

Ans 1. अनु�ेद 22

2. अनु�ेद 21

3. अनु�ेद 19

4. अनु�ेद 20

Question ID : 26433069876
Status : Answered

Chosen Option : 2

Q.41 एल-नीनो एक जिटल मौसम �णाली है जो हर तीन से ________ वष� म� एक बार �कट होती है, और
यह दुिनया के िविभ� िह�ो ंम� सूखा, बाढ़ और अ� चरम मौसमी गितिविधयो ंका कारण बनती है।

Ans 1. सात

2. चार

3. नौ

4. छ:

Question ID : 26433055155
Status : Answered

Chosen Option : 1
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Q.42 ि�प�ीय संघष�, िजसे क�ौज ट� ाइएंगल वार के �प म� भी जाना जाता है, 8वी ंऔर 9वी ंशता�ी म� इन
तीन महान भारतीय राजवंशो ंम� से िकस के बीच �आ था?

Ans 1. पाल, �ितहार और रा�� कूट

2. चोल, �ितहार और रा�� कूट

3. पां�, �ितहार और रा�� कूट

4. परमार, चौहान और गहड़वाल

Question ID : 26433099221

Status : Not Attempted and
Marked For Review

Chosen Option : --

Q.43 नागाल�ड की अंगामी जनजाित �ारा फरवरी के महीने म� कौन-सा पव� मनाया जाता है?
Ans 1. लोसंूग

2. हॉन�िबल

3. माजुली

4. से�े�ी

Question ID : 26433054265
Status : Answered

Chosen Option : 2

Q.44 िन�िल�खत म� से कौन रा� को 'समान �ाय और �तं� कानूनी सहायता' �दान करने का िनद�श देता
है?

Ans 1. भारतीय संिवधान का भाग IV

2. भारतीय संिवधान का भाग VII

3. भारतीय संिवधान का भाग VI

4. भारतीय संिवधान का भाग V

Question ID : 26433069862
Status : Answered

Chosen Option : 3

Q.45 कौन सी पहाड़ी मेघालय के पठार का िह�ा नही ंहै?
Ans 1. गारो पहािड़यां

2. नीलिगरी पहािड़यां

3. खासी पहािड़यां

4. जयंितया पहािड़यां

Question ID : 26433071617
Status : Answered

Chosen Option : 2

Q.46 अवतल दप�ण के िलए व�ु की ��थित – �ितिबंब की ��थित – �ितिबंब के आकार का िन�िल�खत म� से
कौन सा यु� सही नही ंहै?

Ans 1. C से परे - F और C के बीच – छोटा

2. अनंत पर - C पर - अ�िधक छोटा

3. F पर - अनंत पर - अ�िधक बड़ा

4. C और F के बीच - C से परे – बड़ा

Question ID : 26433055753

Status : Not Attempted and
Marked For Review

Chosen Option : --
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Q.47 '�ेइंग इट माई वे' िकसकी आ�कथा है?
Ans 1. युवराज िसंह

2. सिचन त�दुलकर

3. साइना नेहवाल

4. सुनील गाव�र

Question ID : 26433054232
Status : Answered

Chosen Option : 3

Q.48 ओलंिपक खेलो ंके �ी�कालीन और शीतकालीन दोनो ंसं�रणो ंका आयोजनकता� िव� का पहला
नगर कौन-सा था?

Ans 1. �ूयॉक�

2. बीिजंग

3. िसडनी

4. टो�ो

Question ID : 26433054682
Status : Answered

Chosen Option : 4

Q.49 गरीबी को दूर करने और आ�िनभ�रता �ा� करने का उ�े� ______ पंचवष�य योजना से जुड़ा था।
Ans 1. सातवी ं

2. चौथी

3. छठी

4. पाँचवी ं

Question ID : 26433054603
Status : Answered

Chosen Option : 2

Q.50 'कालबेिलया' भारत के िन�िल�खत म� से िकस रा� का लोक-नृ� है?
Ans 1. िहमाचल �देश

2. राज�थान

3. तिमलनाडु

4. असम

Question ID : 26433054130
Status : Not Answered

Chosen Option : --

Section : Quantitative Aptitude
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Q.1

Ans 1. 1289.17

2. 1288.62

3. 1279.62

4. 1278.36

Question ID : 26433061742
Status : Answered

Chosen Option : 1

Q.2

Ans 1. जनवरी

2. फ़रवरी

3. अ�ैल

4. मई

Question ID : 26433076021
Status : Answered

Chosen Option : 4

Q.3 िन�िल�खत म� से सबसे छोटा अनुपात कौन-सा है?
Ans 1. 33 : 41

2. 42 : 49

3. 35 : 47

4. 41 : 92

Question ID : 26433063326
Status : Not Answered

Chosen Option : --
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Q.4 एक चुनाव म�, एक उ�ीदवार को डाले गए मतो ंका 42% �ा� होता है, पर� तु 1400 अवैध मतो ंके
कारण, अपने एकमा� �ित�ं�ी �ारा 3080 मतो ंके ब�मत से हार जाता है। अवैध मतो ंका �ितशत
_______ है।

Ans 1. 4%

2. 3%

3. 5%

4. 6%

Question ID : 26433061301

Status : Not Attempted and
Marked For Review

Chosen Option : --

Q.5 60 ft लंबे, 30 ft चौड़े और 20 ft ऊंचे हॉल म� िफट हो सकने वाले सबसे लंबे खंभे की लंबाई िकतनी
होगी?

Ans 1. 50 feet

2. 70 feet

3. 30 feet

4. 20 feet

Question ID : 26433058815
Status : Answered

Chosen Option : 2

Q.6

Ans 1. D

2. B

3. C

4. A

Question ID : 26433074468
Status : Answered

Chosen Option : 4
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Q.7

Ans 1. 

2. 

3. 

4. 

Question ID : 26433065318

Status : Not Attempted and
Marked For Review

Chosen Option : --

Q.8

Ans 1. tan θ

2. 1

3. sec θ

4. cosec θ

Question ID : 26433061328

Status : Not Attempted and
Marked For Review

Chosen Option : --

Q.9

Ans 1. 

2. 

3. 

4. 

Question ID : 26433076285

Status : Not Attempted and
Marked For Review

Chosen Option : --
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Q.10 आ�ष और माही िमलकर एक काय� को 10 िदन म� कर सकते ह�। यिद आ�ष अकेले उसी काय� को 15
िदन म� कर सकता है, तो माही अकेले उसी काय� को िकतने िदन म� करेगा?

Ans 1. 15

2. 25

3. 20

4. 30

Question ID : 26433074306
Status : Answered

Chosen Option : 4

Q.11

Ans 1. पे�ी

2. फ� टा

3. कोका-कोला

4. �ाइट

Question ID : 26433076019
Status : Answered

Chosen Option : 2

Q.12 �ाित ने अंिकता को एक बैग 15% के लाभ पर बेचा। आशी ने यह बैग अंिकता से Rs.24,840 म� खरीदा
था। अंिकता ने 20% का लाभ अिज�त िकया। �ाित ने बैग िकस कीमत पर खरीदा होगा?

Ans 1.  Rs.18,000

2.  Rs.18,500

3.  Rs.16,000

4.  Rs.20,000

Question ID : 26433063316
Status : Answered

Chosen Option : 1

Q.13 एक िनमा�ण �थल पर राजू एक दीवार को 36 घंटे म� प�ट कर सकता है, जबिक अंगद उसी काम को 18
घंटे म� कर सकता है। सुिमत उसी दीवार को 24 घंटे म� प�ट कर सकता है। यिद वे सभी एक साथ काम
करते ह� तो वे दीवार को िकतने समय म� प�ट कर सकते ह�?

Ans 1. 12 घंटे

2. 6 घंटे

3. 9 घंटे

4. 8 घंटे

Question ID : 26433075078
Status : Answered

Chosen Option : 4
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Q.14 238 और 832 का मह�म समापवत�क �ात कीिजए।
Ans 1. 2

2. 16 

3. 8 

4. 14

Question ID : 26433065031
Status : Answered

Chosen Option : 1

Q.15

Ans 1. 

2. 

3. 

4. 

Question ID : 26433099301

Status : Not Attempted and
Marked For Review

Chosen Option : --

Q.16 यिद एक 4 अंको ंकी सं�ा x58y, 9 से पूण�तः  िवभा� है, तो (x + y) का �ूनतम मान � या होगा?
Ans 1. 2

2. 4

3. 5

4. 3

Question ID : 26433061350
Status : Answered

Chosen Option : 3

Q.17 एक ��� ने ₹3,000 ��ेक के िहसाब से दो साइिकल� खरीदी।ं यिद वह एक साइिकल को 10% के
लाभ पर बेचता है, तो उसे दूसरी साइिकल को िकतने �ितशत लाभ पर बेचना चािहए, तािक उसे कुल
िमलाकर 20% का लाभ हो?

Ans 1. 10 �ितशत

2. 30 �ितशत

3. 25 �ितशत

4. 15 �ितशत

Question ID : 26433081562
Status : Answered

Chosen Option : 2
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Q.18

Ans 1. 1.16 िमिलयन

2. 1.87 िमिलयन

3. 3.17 िमिलयन

4. 2.17 िमिलयन

Question ID : 26433076283

Status : Not Attempted and
Marked For Review

Chosen Option : --

Q.19

Ans 1. 4 : 3

2. 2 : 1

3. 1 : 2

4. 3 : 4

Question ID : 26433057156

Status : Not Attempted and
Marked For Review

Chosen Option : --

Q.20 एक गोले की  ि��ा 5 cm है। गोले का पृ�ीय �े�फल �ा होगा? 
Ans 1. 

2. 

3. 

4. 

Question ID : 26433061087

Status : Not Attempted and
Marked For Review

Chosen Option : --
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Q.21 यिद दी गई सं�ा 16 और 11 से पूण�त: िवभा� है, तो R और M के मान �मशः  �ा ह�?
34R05030M6

Ans 1. 4 और 6

2. 7 और 5

3. 5 और 5

4. 5 और 7

Question ID : 26433058778
Status : Answered

Chosen Option : 3

Q.22 6 cm �ास वाले िकतने धा��क गोलो ंको िपघलाकर 8 cm �ास और 18 cm ऊँचाई वाले एक ठोस
बेलन म� ढाला जा सकता है?

Ans 1. 12

2. 10

3. 6

4. 8

Question ID : 26433074970
Status : Not Answered

Chosen Option : --

Q.23 एक �ूल म� लड़को ंकी सं�ा और लड़िकयो ंकी सं�ा का अनुपात 5 : 2 है। यिद वािष�क परी�ा म�
87% लड़के और 80% लड़िकयां उ�ीण� �ई,ं तो वािष�क परी�ा म� अनु�ीण� होने वाले िव�ािथ�यो ंका
�ितशत �ात कीिजए।

Ans 1. 15%

2. 16%

3. 17%

4. 18%

Question ID : 26433064967
Status : Answered

Chosen Option : 1

Q.24

Ans 1. sinθ

2. cotθ

3. secθ

4. tanθ

Question ID : 26433061365

Status : Not Attempted and
Marked For Review

Chosen Option : --
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Q.25 िन�िल�खत समीकरणो ंसे �मशः  x और y के मान �ात कर�?
6x + 7y = 5xy
10y – 4x = 4xy

Ans 1. 2 और 4

2. 2 और 5

3. 3 और 4

4. 4 और 5

Question ID : 26433071237
Status : Answered

Chosen Option : 1

Q.26 48 और 64 का लघु�म समापव��, 12 और 18 के मह�म समापवत�क का _____ गुना है।
Ans 1. 32

2. 24

3. 16

4. 28

Question ID : 26433066162
Status : Answered

Chosen Option : 1

Q.27 इस योजना के िलए �भावी छूट की गणना कर�  - 5 खरीद� और 3 मु� �ा� कर�।
Ans 1. 36.5%

2. 36%

3. 37.5%

4. 37%

Question ID : 26433056315
Status : Answered

Chosen Option : 3

Q.28 (7x + 4y)2 + (7x − 4y)2 को सरल �प म� िलख�।
Ans 1. 98x2 + 32y2 

2. 32x2 + 98y2 

3. 98x2 − 32y2

4. 98x2 + 32y2 – 5xy 

Question ID : 26433061450
Status : Not Answered

Chosen Option : --

Q.29 यिद राम की आय �ाम की आय से 70% अिधक है और �ाम की आय सोहन की आय से 30% कम
है, तो राम और सोहन की आय का अनुपात �ात कीिजए।

Ans 1. 120 : 101

2. 121 : 102

3. 119 : 100

4. 118 : 99

Question ID : 26433058662

Status : Not Attempted and
Marked For Review

Chosen Option : --
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Q.30

Ans
1. 

2. 

3. 

4. 

Question ID : 26433063981
Status : Not Answered

Chosen Option : --

Q.31 एक ��� ने ब�क से 10% �ित वष� की दर से Rs.50,000 ऋण िलया, िजसका �ाज वािष�क �प से
च�वृ�� होता है। ��ेक वष� के अंत म�, वह ऋण और �ाज के आंिशक भुगतान के �प म� Rs.15,000
का भुगतान करता है। ऐसी तीन िक�ो ंके बाद उसे ब�क को िकतनी धनरािश का भुगतान करना बाकी
है?

Ans 1. Rs.15,200

2. Rs.15,800

3. Rs.16,900

4. Rs.16,200

Question ID : 26433063946
Status : Not Answered

Chosen Option : --

Q.32 एक ठोस लंबवृ�ीय बेलन का व� पृ�ीय �े�फल और आधार की प�रिध �मशः  2200 cm2 और 110
cm ह�। बेलन की ऊंचाई �ात कीिजए।

Ans 1. 20 cm

2. 24 cm

3. 18 cm

4. 22 cm

Question ID : 26433074972
Status : Not Answered

Chosen Option : --

Q.33 गीता, बबीता से 5/2 गुना तेज दौड़ती है। एक रेस म�, यिद गीता, बबीता को 40 m की बढ़त देती है, तो
�ारंिभक िबंदु से उस िबंदु तक की दूरी �ात कीिजए जहां वे दोनो ंिमल�गी (दशमलव के बाद दो �थानो ं
तक पूणा�िकत)।

Ans 1. 65 m

2. 66 m

3. 66.67 m

4. 65.33 m

Question ID : 26433061690
Status : Not Answered

Chosen Option : --
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Q.34

Ans 1. 

2. 

3. 

4. 

Question ID : 26433099303
Status : Not Answered

Chosen Option : --

Q.35 एक ि�भुजाकार मैदान की भुजाएँ 62 m, 186 m और 279 m ह�। उस टेप की अिधकतम लंबाई �ात
कीिजए जो इनम� से ��ेक को िबना कोई टुकड़ा िकए सटीकता से मापने म� स�म हो।

Ans 1. 62 m

2. 93 m

3. 30 m

4. 31 m

Question ID : 26433073061
Status : Not Answered

Chosen Option : --

Q.36

Ans 1. 21.62 इकाई

2. 18.98 इकाई

3. 23.58 इकाई

4. 26.59 इकाई

Question ID : 26433076337
Status : Not Answered

Chosen Option : --

Q.37 यिद x + y = 10, 2xy = 48 और x > y, है, तो 2x - y का मान �ात कीिजए।
Ans 1. 8 

2. 4

3. 6 

4. 3

Question ID : 26433074358
Status : Not Answered

Chosen Option : --
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Q.38 एक दीवार का आयतन 23,958 cm3 है, िजसकी ऊंचाई उसकी चौड़ाई की छह गुनी और लंबाई उसकी
ऊंचाई की आधी है। दीवार की चौड़ाई िकतनी है?

Ans 1. 11 cm

2. 18 cm

3. 21 cm

4. 15 cm

Question ID : 26433063819
Status : Not Answered

Chosen Option : --

Q.39 ब�गलु� और चे�ई के बीच चलने वाली दो ट� ेन� अपने-अपने �थानो ंसे एक ही समय पर चलना शु�
करती ह� और �मशः  80km/h और 95km/h की चाल से एक-दूसरे की ओर बढ़ती ह�। उनके िमलने के
समय तक एक ट� ेन दूसरी ट� ेन से 180 km अिधक दूरी तय कर चुकी होती है। ब�गलु� और चे�ई के बीच
की दूरी �ात कीिजए।

Ans 1. 1200 km

2. 345km

3. 2100 km

4. 400 km

Question ID : 26433061218
Status : Not Answered

Chosen Option : --

Q.40

Ans
1. 

2. 

3. 

4. 

Question ID : 26433075779
Status : Not Answered

Chosen Option : --

Q.41 एक कार ने पहले 100 km की दूरी 50 km/h की गित से तय की। इसने अगले 140 km की दूरी 70 km
/ h की गित से तय की। इसकी औसत गित �ा है?

Ans 1. 64 km/h 

2. 62 km/h 

3. 60 km/ h 

4. 58 km/h 

Question ID : 26433058658
Status : Not Answered

Chosen Option : --

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap


Q.42 एक शो�म म� एक वॉिशंग मशीन का मू� ₹ 65,000 है। �ाहक को ₹ 2,000 की नकद छूट िमलती है,
और एक �ैच काड� िमलता है िजसम� 10% से 15% की छूट का वादा िकया जाता है। वािशंग मशीन के
�ूनतम और अिधकतम िव�य मू� के बीच का अंतर �ात कीिजए।

Ans 1. 

2. 

3. 

4. 

Question ID : 26433074287
Status : Not Answered

Chosen Option : --

Q.43 दो �ेशन एक सीधी रेखा म� 120 km की दूरी पर ह�। एक ट� ेन �ेशन A से सुबह 8 a.m. पर चलना शु�
करती है और �ेशन B की ओर 20 km/h की चाल से चलती है, और दूसरी ट� ेन �ेशन B से सुबह 9
a.m. पर चलना शु� करती है और �ेशन A की ओर 30 km/h की चाल से चलती है। वे िकस समय
िमल�गी?

Ans 1. 10:00 a.m.

2. 11:30 a.m.

3. 10:30 a.m.

4. 11:00 a.m.

Question ID : 26433063796
Status : Not Answered

Chosen Option : --

Q.44

Ans 1. 

2. 

3. 

4. 

Question ID : 26433074731
Status : Not Answered

Chosen Option : --
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Q.45

Ans 1. िव�ान, अं�ेज़ी

2. अं�ेज़ी, गिणत

3. िव�ान, भूगोल

4. भूगोल, गिणत

Question ID : 26433075206
Status : Not Answered

Chosen Option : --

Q.46 सं�ा 150328, 23 से िवभा� है। यिद इस सं�ा के अंको ंको अवरोही �म म� पुन��व��थत िकया
जाए, और इस �कार िनिम�त सं�ा म� से 13 का पांच गुना घटा िदया जाए, तो प�रणामी सं�ा
िन�िल�खत म� से िकससे िवभा� होगी?

Ans 1. 11

2. 5

3. 2

4. 3

Question ID : 26433061723
Status : Not Answered

Chosen Option : --

Q.47 यिद एक कार 3.5 लीटर पेट� ोल म� 75.5 km की दूरी तय करती है, तो वह 28 लीटर पेट� ोल म� िकतनी दूरी
(km म�) तय करेगी?

Ans 1. 603

2. 602

3. 604

4. 600

Question ID : 26433058679
Status : Not Answered

Chosen Option : --
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Q.48

Ans 1. 5300

2. 5307

3. 5295

4. 5315

Question ID : 26433073100
Status : Not Answered

Chosen Option : --

Q.49 एक घनाभ का कुल पृ�ीय �े�फल �ा है िजसकी लंबाई, चौड़ाई और ऊंचाई �मशः  7 सेमी, 5 सेमी
और 9 सेमी है?

Ans
1. 

2. 

3. 

4. 

Question ID : 26433058978
Status : Not Answered

Chosen Option : --

Q.50 एक कार अपनी या�ा के पहले 10 िमनट म� 21 m/sec की चाल से चलती है, अगले 10 िमनट म� 9.0 km
और अंितम 10 िमनट म� 10 km की या�ा करती है। अपनी पूरी या�ा के दौरान कार की औसत चाल
km/h म� �ा है?

Ans 1. 62.0 km/h

2. 60.0 km/h

3. 63.2 km/h

4. 65.3 km/h

Question ID : 26433073148
Status : Not Answered

Chosen Option : --

Q.1 Select the option that expresses the given sentence in passive voice.

Jack played hide and seek.
Ans 1. Hide and seek is played by Jack.

2. Hide and seek will be played by Jack.

3. Hide and seek was played by Jack.

4. Hide and seek had been played by Jack.

Question ID : 26433059072
Status : Answered

Chosen Option : 3

Section : English Comprehension
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Q.2 Select the option that can be used as a one-word substitute for the given group of
words.
Treat with a vaccine, usually by injection to promote immunity against a disease

Ans 1. Inoculate 

2. Innovate

3. Innuendo

4. Innumerate

Question ID : 26433060490
Status : Answered

Chosen Option : 1

Q.3 Select the most appropriate ANTONYM of the underlined word in the given sentence.

Jason was sent to school in England, where he excelled academically and developed
an interest in theatre and writing.

Ans 1. failed

2. pursued

3. continued

4. accomplished

Question ID : 26433092309
Status : Answered

Chosen Option : 3

Q.4 Select the most appropriate synonym of the highlighted word.
He imputes his ability to play great football to an inspirational coach.

Ans 1. amputates 

2. contributes

3. attributes 

4. validates

Question ID : 26433058297
Status : Answered

Chosen Option : 2

Q.5 Select the most appropriate meaning of the given idiom.

At sea
Ans 1. Obsolete  

2. To blunder 

3. At a loss or perplexed 

4. To overcome 

Question ID : 26433060223
Status : Answered

Chosen Option : 2
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Q.6 Select the most appropriate option to fill in the blank.

James Bernard was undoubtedly one of the greatest elocutionists of the world.
Everyone agreed that he possessed the ____________.

Ans 1. fourth estate

2. curtain lecture

3. yellow press

4. gift of the gab 

Question ID : 26433058636
Status : Answered

Chosen Option : 4

Q.7 Select the option that substitutes the bracketed word-segment correctly and
completes the sentence meaningfully.
Manthan and Pranav (sang together in a concert).

Ans 1.  articulated together in a show

2. chanted together in a show

3. enunciated together in a show

4. enjoined together in a show

Question ID : 26433059827
Status : Answered

Chosen Option : 1

Q.8 Select the most appropriate meaning of the underlined idiom.

Even when the child accused the relative of inappropriate behaviour, the parents
continued to play perfect hosts at the party instead of addressing the elephant in the
room.

Ans 1. Punishing someone for inappropriate behaviour 

2. A big problem everyone is ignoring or afraid to talk about

3. Ignoring someone who seeks attention through false stories 

4. Revealing the secrets 

Question ID : 26433060721
Status : Answered

Chosen Option : 3

Q.9 Select the most appropriate option that can substitute the underlined segment in the
given sentence.
You can ask Mr. Dinakar for anything; he would give you the shirt off his back.

Ans 1.  is willing to do anything to help another person

2. is a person who makes the decisions

3. is a person who is arrogant

4.  is a person who is selfish

Question ID : 26433059774
Status : Answered

Chosen Option : 1
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Q.10 Select the most appropriate synonym of the given word. 
Progress

Ans 1. Halt 

2. Diminishment 

3. Development 

4. Stagnation 

Question ID : 26433059787
Status : Answered

Chosen Option : 3

Q.11 Select the most appropriate meaning of the underlined idiom.

Some colleagues at a workplace are really hard nuts to crack.
Ans 1. Someone showing extra concern over little things

2. Hardcore traditions in a family

3. An easy-goer who can be easily convinced

4. An inflexible person who is hard to convince 

Question ID : 26433073209
Status : Answered

Chosen Option : 4

Q.12 Select the option that can be used as a one-word substitute for the given group of
words.

A happy development or happening of events by chance.
Ans 1. Suddenly

2. Incident

3. Occurrence

4. Serendipity

Question ID : 26433060095
Status : Answered

Chosen Option : 1

Q.13 Select the most appropriate ANTONYM of the given word.

Novel
Ans 1. Traditional

2. Customary

3. Formal

4. Ancient

Question ID : 26433088133
Status : Answered

Chosen Option : 4

Q.14 Select the INCORRECTLY spelt word.
Ans 1. Necessitate 

2. Impoverish

3. Grandeur 

4. Ostacise

Question ID : 26433060205
Status : Answered

Chosen Option : 1
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Q.15 Select the most appropriate option that can substitute the underlined segment in the
given sentence. 
He is a weak student and somehow pulled over the exams.

Ans 1. pulled through 

2. pulled up 

3.  pulled together

4. pulled down 

Question ID : 26433059681
Status : Answered

Chosen Option : 2

Q.16 Select the most appropriate synonym of the given word.
Lethal

Ans 1. Slimy

2. Drowsy

3. Deadly

4. Noisy

Question ID : 26433066111

Status : Not Attempted and
Marked For Review

Chosen Option : --

Q.17 Select the most appropriate synonym of the underlined word in the following
sentence. 
Ideas are present in the consciousness, which when released and given scope to grow
and take shape, can lead to successful events.

Ans 1. awareness 

2. thoughtlessness

3. negligence

4. ignorance

Question ID : 26433059797
Status : Answered

Chosen Option : 1

Q.18 Select the most appropriate option that can substitute the underlined segment in the
given sentence. 
The story did not go by well enough.

Ans 1. go down 

2. go off 

3. go into 

4. go through 

Question ID : 26433059678
Status : Answered

Chosen Option : 4
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Q.19 Select the option that can be used as a one-word substitute for the given group of
words.
A group of worshippers

Ans 1. Congregation

2. Posse 

3. Constellation

4. Caravan

Question ID : 26433060819
Status : Answered

Chosen Option : 3

Q.20 Select the most appropriate ANTONYM of the underlined word.

My teacher asked me to compress the file.
Ans 1. Search 

2. Trace

3. Turn 

4. Enlarge 

Question ID : 26433088769
Status : Answered

Chosen Option : 4

Q.21 Select the option that can be used as a one-word substitute for the given group of
words.
One who knows all things

Ans 1. Omniscient 

2. Oligarchy 

3. Omnipotent 

4. Ostracise

Question ID : 26433060178
Status : Answered

Chosen Option : 1

Q.22 Select the most appropriate ANTONYM of the given word.
Rife

Ans 1. Scarce

2. Serene

3. Popular

4. Ripe

Question ID : 26433066095

Status : Not Attempted and
Marked For Review

Chosen Option : --

Q.23 Select the INCORRECTLY spelt word.
Ans 1. Pried

2. Proteg

3. Prophet 

4. Prodigy

Question ID : 26433060481
Status : Answered

Chosen Option : 1
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Q.24 Select the sentence that uses the idiom correctly.
Ans 1. Trees shed their leaves under the weather.

2. Reena was walking on the lawn under the weather.

3. She missed the exam as she felt under the weather.

4. Flowers bloom under the weather.

Question ID : 26433060375
Status : Answered

Chosen Option : 4

Q.25 Select the most appropriate idiom that can substitute the italicised words in the given
sentence.

You get a good and comprehensive idea of the town from the clock tower situated in
the centre of the town.

Ans 1. blind alley

2. body and soul

3.  bird’s eye view

4.  blind date

Question ID : 26433060509
Status : Answered

Chosen Option : 3

Q.26 Select the most appropriate meaning of the given idiom.

To stand one's ground
Ans 1. To stand up 

2. To stand in one’s own land

3. To maintain one’s position  

4. To fight for the same position 

Question ID : 26433088274
Status : Answered

Chosen Option : 3

Q.27 Select the most appropriate option that can substitute the given group of words.

The action or offence of speaking sacrilegiously about God or sacred things
Ans 1. Renunciation

2. Contamination

3. Blasphemy

4. Irreverence

Question ID : 26433060576
Status : Answered

Chosen Option : 3
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Q.28 Select the option that expresses the given sentence in active voice.

The villain of the play was hated by the audience.
Ans 1. The audience had hated the villain of the play.  

2. The villain hated the audience of the play.  

3. The audience hated the villain of the play. 

4. The audience was hating the villain of the play. 

Question ID : 26433055877
Status : Answered

Chosen Option : 3

Q.29 Select the option that can be used as a one-word substitute for the given group of
words.

Someone who is reserved and shy
Ans 1. Social  

2. Introvert

3. Recessive

4. Extrovert

Question ID : 26433060350
Status : Answered

Chosen Option : 2

Q.30 The following sentence has been divided into parts. One of them may contain an error.
Select the part that contains the error from the given options. If you don’t find any
error, mark ‘No error’ as your answer.
His cellphone is / different and costlier / than mine.

Ans 1.  No error

2. than mine

3.  His cellphone is

4.  different and costlier

Question ID : 26433060147
Status : Answered

Chosen Option : 4

Q.31 Select the most appropriate option that can substitute the underlined segment in the
given sentence.

The ship sank because the engineer has not called for help.
Ans 1. did not call for help

2. was not call for help

3. will not call for help

4. did not called for help

Question ID : 26433060269
Status : Answered

Chosen Option : 4
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Q.32 Select the most appropriate ANTONYM of the given word.

Fascinating
Ans 1. Unforgettable

2. Seductive

3. Tempting

4. Repulsive

Question ID : 26433088211

Status : Not Attempted and
Marked For Review

Chosen Option : --

Q.33 Select the most appropriate synonym of the given word.
Addicted

Ans 1. Disinclined 

2. Unaccustomed

3. Averse

4. Inclined 

Question ID : 26433060454
Status : Answered

Chosen Option : 4

Q.34 Select the most appropriate meaning of the underlined idiom.

He was beaming from ear to ear.
Ans 1. Smiling broadly

2. Working

3. Playing 

4. Criticising bitterly

Question ID : 26433073821
Status : Answered

Chosen Option : 4

Q.35 Select the INCORRECTLY spelt word.
Ans 1. Mercenary 

2.  Centinarian

3. Aquatic

4. Notorious

Question ID : 26433060194
Status : Answered

Chosen Option : 4
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Q.36 Select the most appropriate synonym of the underlined word. 
Their vision was very clear: if Indians were to play a meaningful role in the community
of nations, they must be second to none in the application of advanced technologies
to their real-life problems.

Ans 1.  mistreatment

2.  corruption

3.  misuse

4. implementation 

Question ID : 26433059763
Status : Answered

Chosen Option : 4

Q.37 Select the INCORRECTLY spelt word in the following sentence.
Rajib is not only an extremely reputed conoisseur of art but also a successful
entrepreneur.

Ans 1. successful  

2. entrepreneur  

3. reputed  

4. conoisseur  

Question ID : 26433060812
Status : Answered

Chosen Option : 3

Q.38 Select the most appropriate synonym of the underlined word.

The discovery of treasure under the Bermuda Triangle is probably a hoax.
Ans 1. Bonanza

2. Delusion

3. Trick  

4. Analogy  

Question ID : 26433058635
Status : Answered

Chosen Option : 4

Q.39 Select the INCORRECTLY spelt word.
Ans 1. Extracted

2. Expected

3. Extacted

4. Acceptable 

Question ID : 26433065139
Status : Answered

Chosen Option : 3
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Q.40 Select the most appropriate option to fill in the blank.

After a tiring day, the workers decided to ____________ to restore their energy.
Ans 1. hit the sack

2. have an axe to grind  

3. bring to book

4. put a spoke in the wheel 

Question ID : 26433058637
Status : Answered

Chosen Option : 1

Comprehension:
Read the given passage and answer the questions that follow.

It is not an exaggeration to say that the question of where and when the Black Death, the
deadliest pandemic ever, originated is one of the biggest mysteries in human history. After all,
the Black Death was the first wave of the second plague pandemic of the 14th to early 19th
centuries. It killed some 50-60% of the population in Europe, the Middle East and North Africa
and an unaccountable number of people in Central Asia.
Different proposals, based on competing theories, have been put forward. But in 2017, I came
across some records describing an intriguing medieval cemetery in Kara-Djigach, Chüy
Valley, northern Kyrgyzstan, which I suspected may hold the key. As part of a multidisciplinary
team co-led by Maria Spyrou at University of Tubingen, we have now investigated several
specimens from individuals buried at that site – and come up with an answer.
The idea that the Black Death originated in the east – territories overlapping, roughly
speaking, Central Asia, Mongolia and China – dates back to the contemporaries of the
pandemic in Europe and the Islamic world. The modern, academic Chinese origin theory
dates back to at least to in 1756-8 and a publication about the history of Central Asia by
French scholar Joseph de Guignes.

SubQuestion No : 41
Q.41 Select the suitable word given in the passage which means ‘areas of land under the

jurisdiction of a ruler or state’.
Ans 1. Mysteries

2. Population 

3. Territories

4. Contemporaries

Question ID : 26433091973
Status : Answered

Chosen Option : 3

https://applink.adda247.com/d/XhqWf9lSap
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Comprehension:
Read the given passage and answer the questions that follow.

It is not an exaggeration to say that the question of where and when the Black Death, the
deadliest pandemic ever, originated is one of the biggest mysteries in human history. After all,
the Black Death was the first wave of the second plague pandemic of the 14th to early 19th
centuries. It killed some 50-60% of the population in Europe, the Middle East and North Africa
and an unaccountable number of people in Central Asia.
Different proposals, based on competing theories, have been put forward. But in 2017, I came
across some records describing an intriguing medieval cemetery in Kara-Djigach, Chüy
Valley, northern Kyrgyzstan, which I suspected may hold the key. As part of a multidisciplinary
team co-led by Maria Spyrou at University of Tubingen, we have now investigated several
specimens from individuals buried at that site – and come up with an answer.
The idea that the Black Death originated in the east – territories overlapping, roughly
speaking, Central Asia, Mongolia and China – dates back to the contemporaries of the
pandemic in Europe and the Islamic world. The modern, academic Chinese origin theory
dates back to at least to in 1756-8 and a publication about the history of Central Asia by
French scholar Joseph de Guignes.

SubQuestion No : 42
Q.42 Which of the following may be the probable origin of Black Death, according to the

passage?
Ans 1. Kyrgyzstan 

2. India

3. Mongolia

4. China

Question ID : 26433091975
Status : Answered

Chosen Option : 1

Comprehension:
Read the given passage and answer the questions that follow.

It is not an exaggeration to say that the question of where and when the Black Death, the
deadliest pandemic ever, originated is one of the biggest mysteries in human history. After all,
the Black Death was the first wave of the second plague pandemic of the 14th to early 19th
centuries. It killed some 50-60% of the population in Europe, the Middle East and North Africa
and an unaccountable number of people in Central Asia.
Different proposals, based on competing theories, have been put forward. But in 2017, I came
across some records describing an intriguing medieval cemetery in Kara-Djigach, Chüy
Valley, northern Kyrgyzstan, which I suspected may hold the key. As part of a multidisciplinary
team co-led by Maria Spyrou at University of Tubingen, we have now investigated several
specimens from individuals buried at that site – and come up with an answer.
The idea that the Black Death originated in the east – territories overlapping, roughly
speaking, Central Asia, Mongolia and China – dates back to the contemporaries of the
pandemic in Europe and the Islamic world. The modern, academic Chinese origin theory
dates back to at least to in 1756-8 and a publication about the history of Central Asia by
French scholar Joseph de Guignes.

SubQuestion No : 43
Q.43 What is the tone of the speaker?
Ans 1. Informal

2. Humorous

3. Pessimistic

4. Explanatory

Question ID : 26433091974
Status : Answered

Chosen Option : 4
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Comprehension:
Read the given passage and answer the questions that follow.

It is not an exaggeration to say that the question of where and when the Black Death, the
deadliest pandemic ever, originated is one of the biggest mysteries in human history. After all,
the Black Death was the first wave of the second plague pandemic of the 14th to early 19th
centuries. It killed some 50-60% of the population in Europe, the Middle East and North Africa
and an unaccountable number of people in Central Asia.
Different proposals, based on competing theories, have been put forward. But in 2017, I came
across some records describing an intriguing medieval cemetery in Kara-Djigach, Chüy
Valley, northern Kyrgyzstan, which I suspected may hold the key. As part of a multidisciplinary
team co-led by Maria Spyrou at University of Tubingen, we have now investigated several
specimens from individuals buried at that site – and come up with an answer.
The idea that the Black Death originated in the east – territories overlapping, roughly
speaking, Central Asia, Mongolia and China – dates back to the contemporaries of the
pandemic in Europe and the Islamic world. The modern, academic Chinese origin theory
dates back to at least to in 1756-8 and a publication about the history of Central Asia by
French scholar Joseph de Guignes.

SubQuestion No : 44
Q.44 How does the passage describe Black Death?
Ans 1. The worst specimen of human created tragedy

2. The first wave of the second plague pandemic

3. The specimen of human evolution and its evidence

4. The initiator of all the future pandemics

Question ID : 26433091972
Status : Answered

Chosen Option : 4

Comprehension:
Read the given passage and answer the questions that follow.

It is not an exaggeration to say that the question of where and when the Black Death, the
deadliest pandemic ever, originated is one of the biggest mysteries in human history. After all,
the Black Death was the first wave of the second plague pandemic of the 14th to early 19th
centuries. It killed some 50-60% of the population in Europe, the Middle East and North Africa
and an unaccountable number of people in Central Asia.
Different proposals, based on competing theories, have been put forward. But in 2017, I came
across some records describing an intriguing medieval cemetery in Kara-Djigach, Chüy
Valley, northern Kyrgyzstan, which I suspected may hold the key. As part of a multidisciplinary
team co-led by Maria Spyrou at University of Tubingen, we have now investigated several
specimens from individuals buried at that site – and come up with an answer.
The idea that the Black Death originated in the east – territories overlapping, roughly
speaking, Central Asia, Mongolia and China – dates back to the contemporaries of the
pandemic in Europe and the Islamic world. The modern, academic Chinese origin theory
dates back to at least to in 1756-8 and a publication about the history of Central Asia by
French scholar Joseph de Guignes.

SubQuestion No : 45
Q.45 What is the theme of the passage?
Ans 1. Impact of Black Death

2. Origin of Black Death

3. Pitfall of Black Death

4. History of Black Death

Question ID : 26433091971
Status : Answered

Chosen Option : 4
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Comprehension:
In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.
All elephants (1) ______ several distinctive features, the most notable of which is a long trunk
or proboscis, used for many (2) _______, particularly breathing, lifting water and grasping
objects. Their incisors grow (3) _______ tusks, which can serve as weapons and as tools for
moving objects and digging. Elephants' large ear flaps help to control their body temperature.
Their pillar-like legs (4) _______ carry their great weight. African elephants have larger ears
and concave backs while Asian elephants have smaller ears and convex or level backs.
One of the biggest threats to elephant populations is the ivory trade, as the animals are
poached for their ivory tusks. Other threats to (5) ________ elephants include habitat
destruction and conflicts with local people. Elephants are used as working animals in Asia. In
the past they were used in war; today, they are often put on display in zoos and circuses.

SubQuestion No : 46
Q.46 Select the most appropriate option to fill in blank number 1.
Ans 1.  will have

2. has

3. have

4. had 

Question ID : 26433060746
Status : Answered

Chosen Option : 2

Comprehension:
In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.
All elephants (1) ______ several distinctive features, the most notable of which is a long trunk
or proboscis, used for many (2) _______, particularly breathing, lifting water and grasping
objects. Their incisors grow (3) _______ tusks, which can serve as weapons and as tools for
moving objects and digging. Elephants' large ear flaps help to control their body temperature.
Their pillar-like legs (4) _______ carry their great weight. African elephants have larger ears
and concave backs while Asian elephants have smaller ears and convex or level backs.
One of the biggest threats to elephant populations is the ivory trade, as the animals are
poached for their ivory tusks. Other threats to (5) ________ elephants include habitat
destruction and conflicts with local people. Elephants are used as working animals in Asia. In
the past they were used in war; today, they are often put on display in zoos and circuses.

SubQuestion No : 47
Q.47 Select the most appropriate option to fill in blank number 2.
Ans 1. means

2. schemes

3. purposes 

4. capacities

Question ID : 26433060747
Status : Answered

Chosen Option : 3
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Comprehension:
In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.
All elephants (1) ______ several distinctive features, the most notable of which is a long trunk
or proboscis, used for many (2) _______, particularly breathing, lifting water and grasping
objects. Their incisors grow (3) _______ tusks, which can serve as weapons and as tools for
moving objects and digging. Elephants' large ear flaps help to control their body temperature.
Their pillar-like legs (4) _______ carry their great weight. African elephants have larger ears
and concave backs while Asian elephants have smaller ears and convex or level backs.
One of the biggest threats to elephant populations is the ivory trade, as the animals are
poached for their ivory tusks. Other threats to (5) ________ elephants include habitat
destruction and conflicts with local people. Elephants are used as working animals in Asia. In
the past they were used in war; today, they are often put on display in zoos and circuses.

SubQuestion No : 48
Q.48 Select the most appropriate option to fill in blank number 3.
Ans 1. too

2. into

3. for

4. towards

Question ID : 26433060748
Status : Answered

Chosen Option : 2

Comprehension:
In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.
All elephants (1) ______ several distinctive features, the most notable of which is a long trunk
or proboscis, used for many (2) _______, particularly breathing, lifting water and grasping
objects. Their incisors grow (3) _______ tusks, which can serve as weapons and as tools for
moving objects and digging. Elephants' large ear flaps help to control their body temperature.
Their pillar-like legs (4) _______ carry their great weight. African elephants have larger ears
and concave backs while Asian elephants have smaller ears and convex or level backs.
One of the biggest threats to elephant populations is the ivory trade, as the animals are
poached for their ivory tusks. Other threats to (5) ________ elephants include habitat
destruction and conflicts with local people. Elephants are used as working animals in Asia. In
the past they were used in war; today, they are often put on display in zoos and circuses.

SubQuestion No : 49
Q.49 Select the most appropriate option to fill in blank number 4.
Ans 1. would

2. could 

3. can

4. should

Question ID : 26433060749
Status : Answered

Chosen Option : 3
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Comprehension:
In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.
All elephants (1) ______ several distinctive features, the most notable of which is a long trunk
or proboscis, used for many (2) _______, particularly breathing, lifting water and grasping
objects. Their incisors grow (3) _______ tusks, which can serve as weapons and as tools for
moving objects and digging. Elephants' large ear flaps help to control their body temperature.
Their pillar-like legs (4) _______ carry their great weight. African elephants have larger ears
and concave backs while Asian elephants have smaller ears and convex or level backs.
One of the biggest threats to elephant populations is the ivory trade, as the animals are
poached for their ivory tusks. Other threats to (5) ________ elephants include habitat
destruction and conflicts with local people. Elephants are used as working animals in Asia. In
the past they were used in war; today, they are often put on display in zoos and circuses.

SubQuestion No : 50
Q.50 Select the most appropriate option to fill in blank number 5.
Ans 1. elegant

2. wild 

3. dangerous

4. tame 

Question ID : 26433060750
Status : Answered

Chosen Option : 2
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